
 

 

 ا������ت ��� ا��
اد ا������ و ا��
اد ا������
  
�آ�� و ������ت -)1�:  

  .ه+ أ�
اد (���� )'����... ، 7287، 209، 4، 1، 0ا��
اد 
  .ه+ أ�
اد �����... ، 209,7287، 47، 45,0498، 0,15ا��
اد 

    :ه+ 1,6و  12,7ا������ت ا�5+ ��4/ ا���3م �01 ��� ا��
د�/ ا������/ 
  :ا�7�8 �

14,3  =  1,6  +  12,7  
  ا�
� ا�ول    ا�
� ا��
	�    ا�����ع

  :=�با� �
20,32  =  1,6  ×  12,7  

  ا�ول �
��ا�    �
�� ا��
	�ا�    ��اءا�
  :ا���ح �

11,1  =  1,6  -  12,7  
  ا����وح ���    ا����وح    ا���ق

  :3@��ا� �
7,9375  =  1,6  ÷  12,7  

��ط�  ا��'&�م    ا��'&�م $#"�    ا�!
رج ا��
  
2(- �3'B�ديا
  :� D+ ا��@�ب ا��

E����:  
ا�D ��3'B+ ا��@�ب ا��
دي ه+ �G�8�� ا�G3ا�
 ا�5+ ��F /� /4@�ب 


 �/ ا������ت�

دي ��G5ي ��� ا��� ��'��.  

ة ��I1:  

��'��
دي 1
ون أGIاس J8KL ��@�ب � Oا�=�ب و ا�3@��  أو Pذ� 
�1 RS
 .�/ا��� إ��J8KL �����5 ا�7�8 و ا���ح ا��5'��3 �/ ا��@�ر 

��Vأ�:  
A=  2 + 5 ×××× 3  ;  B=  3 ×××× 5 - 8 ÷ 2 ; 

C=  5 ×××× 7 - 3 ×××× 8 + 25 ÷5 

ة ��I2:  

��'��
دي 1] أGIاس J8KL ا������ت ا��GZGدة داXY ا�GIاس 1
ءا  ��@�ب �
 .GI��1اس ا�
ا���Y إ�� أن ���� ا��5'�� 1
ون أGIاس

��Vأ�:  
D=  (3 + 7) ×××× 5 + 2 ;  E= (7 ×××× 3 + 4) ×××× (8 - 10 ÷ 2) + 6 ×××× 7 

�\F]� :  
  .ا����DG3ت ه+ أGIاس آ'��ة

F= 21 - [ 5 ×××× (7 - 4)] 

ة ��I3:  


دي 1
ون أGIاس � ��'��أو ( �G4ن �/ ا�7�8 و ا���ح 3D^��@�ب 
^3D ��@3ا�) ا�=�ب و ا� J8KL إ�� ا����/�����ت �/ ا��@�ر.  

��Vأ�:  
G=  3 5 ÷7×6 ;  H= 5 + 9,3 - 7 

��X�G ا�8
اء إ�� /و ا���ح7�8 �Gز���� ا�=�ب ��� ا� -)3
  :و �Dق�G�8ع أ

  :ا(�[ح
�ف �[�� ا�=�ب F /4�� [LeD f'� ك�Kن هG4� O ��
K�×.  

]V�:  
• a×9  h54�  .4��9a/ أن 
��'� �/ ا�8
اء  xyا��1�54  •y×x. 
  .3+t���X ل  4و ��3أ  )3+t(4��� t(×4  X4i+3(��4/ آ�1�5  •
)��'b+a ( k(×(c+d)ا��1�54  •c+d( )b+a(.  
7×89
اء ا� •  h54� O79. 
• 1 ×××× y = 1y = y. 


ة ��I4 :  
a  وb  وc ����� اد
  . S[ث أ�

( )k a b k a k b× + = × + )؛      × )a b k a k b k+ × = × + ؛     ×

( )k a b k a k b× − = × − )؛   × )a b k a k b k− × = × − ×. 
  


